EXPONENCIALNI ROVNICE

1) Reste v R rovnici:

a)3* = =
81
b) 552 = 0,04
c)4x-1 =1
8
3
d) 271 = —
64
&) i = 16
1n\* 1
NG =3

m) /2223 = {[0,53-x
n) V2721 = /952

2) Redte v R rovnici:

a)2*-3* =36
2% 4
b5 =5

c) V2% -+/5% = 0,01

d) 4% - 25% = 0,01 - (103¥~1)2

e) 2x+3 =1

f) 4(x+3)(2—5x) =1

3) Reste v R rovnici:

a) 23x . 43x—3 — 82x+1
b) 33 i 272x—3 — 813x—5
¢) (0,25)27% = 22
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f) N/9x - V/3%3 = 27
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4) Redte v R rovnici:

a) 2% + 2%+t =24 /K = {3}/
b) 3x+2 4 3x-1 _ 7g /K = {0}/
c)4-3*¥+1 —3x-1 =315 /K = {3}/
d) 2571 4 2572 4 2%3 = 448 /K = {9}/
e) 5+ 4%+l _ 4x+2 — 4x=1 4 240 /K = {3}/
5) Reste v R rovnici:
)4  +2*—6=0 /K = {1}/
b) 24 — 50 - 2% = 896 /K =13}/
¢) 72 + 7% — 686 = 36 - 7* /K =12}

d) 42x+1 =65 - 4_x—1 -1 /K = {1; _2}/



